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	Set 1
	Set 2
	Set 3
	Set 4
	Set 5
	Set 6
	Set 7
	Set 8
	Set 9
	Set 10

	1
	solving simple equations
	
	
	
	
	
	
	
	
	
	

	2
	finding a percentage of an amount
	
	
	
	
	
	
	
	
	
	

	3
	rotations & reflections
	
	
	
	
	
	
	
	
	
	

	4
	simplify fractions & finding a fraction of an amount
	
	
	
	
	
	
	
	
	
	

	5
	+, -, x and ÷ fractions
	
	
	
	
	
	
	
	
	
	

	6
	angles
	
	
	
	
	
	
	
	
	
	

	7
	simplifying expressions & expanding a bracket
	
	
	
	
	
	
	
	
	
	

	8
	long multiplication & division
	
	
	
	
	
	
	
	
	
	

	9
	money problems
	
	
	
	
	
	
	
	
	
	

	10
	mean, mode and median
	
	
	
	
	
	
	
	
	
	


	Revision Set 1

	1
	solve:  5y + 3 = 18
	

	2
	find 15% of £300
	

	3
	draw the image of the shape after a relection in the given mirror line 
	[image: image21.png]





	4
	simplify  6
            10
	

	5
	        
[image: image1.wmf]3

1

2

1

x


	

	6
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find the value of x


	

	7
	simplify: 5x + 8 + 2x - 3
	

	8
	357 x 34
	

	9
	how many stamps costing 26p each can I buy for £10?
	

	10
	find the mode of: 

3, 4, 7, 3, 2, 4, 5, 3, 4, 6, 8, 4, 2, 7
	


	Revision Set 2

	1
	solve:  2(x + 5) = 16
	

	2
	find 45% of 250
	

	3
	draw the image of the shape after a relection in the given mirror line
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find      of £30
	

	5
	          
[image: image2.wmf]9

4

9

2

+


	

	6
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find the value of x


	

	7
	expand: 2(3 + m)
	

	8
	525 ÷ 21
	

	9
	Heather is paid £25.20 for six hours work. How much does she get paid each hour?
	

	10
	find the median of:
7, 6, 2, 3, 1, 9, 5, 4, 8
	


	Revision Set 3

	1
	solve:  7 + 3t = 19
	

	2
	find 10% of 54kg
	

	3
	draw the image after the shape has been rotate 180° about X
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	4
	simplify  4
            12
	

	5
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	6
	find the value of x
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	7
	simplify: 2d + 2e + 3d
	

	8
	477 x 55
	

	9
	Lemonade costs 96p per litre. How much does 4 litres of lemonade cost?
	

	10
	find the mean of:
4, 8, 7, 5, 9, 4, 8, 3
	

	Revision Set 4

	1
	solve:   w + 1 = 1
               6
	

	2
	find 15% of £80
	

	3
	draw the image of the shape after it has been rotated 90° clockwise around (0, 0)
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	4
	find 
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 of £88
	

	5
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find the value of x
	

	7
	expand: 4(3d – 2n)
	

	8
	829 ÷ 22
	

	9
	how much change to I get from £20 if I spend £13.45?
	

	10
	find the median of:
2, 4, 6, 7, 9
	

	Revision Set 5

	1
	solve:   4x + 7 = 17
	

	2
	find 12% of £90
	

	3
	draw the image of the shape after it has been reflected in the y axis
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	4
	simplify  18
             24
	

	5
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find the value of x 
	

	7
	simplify: 2v – 5w + 5w
	

	8
	507 x 34
	

	9
	I buy 3 pairs of socks at £2.46 each. How much do I pay altogether?
	

	10
	find the mode of:

6, 6, 6, 8, 9, 10, 11, 12, 13
	

	Revision Set 6

	1
	solve:  2k + 8 = 4
	

	2
	find 15% of £68
	

	3
	draw the image of the shape after it has been rotated 180° clockwise around (0, 0)
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	4
	find 
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 of 250 litres
	

	5
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	6
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find the value of x
	

	7
	expand: k(k – 3)
	

	8
	875 ÷ 24
	

	9
	A burger costs £1.65, fries cost 98p and a drink is 68p. How much will a burger, fries and drink cost altogether?
	

	10
	find the median of:

6, 6, 6, 8, 9, 10, 11, 12, 13
	

	Revision Set 7

	1
	solve:   3y – 2 = 4
	

	2
	find 12% of 400kg
	

	3
	draw the reflection of the shape in the x axis
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	4
	simplify  16
             48
	

	5
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	6
	find the value of x 
	

	7
	simplify: 2w + 4y – 7y
	

	8
	958 x 54
	

	9
	How much will 3 kg of apples cost if 1kg costs £1.45
	

	10
	find the mean of:
5, 3, 10, 2, 7, 3, 2, 5, 9, 3
	

	Revision Set 8

	1
	solve:  12 – 3y = 6
	

	2
	find 30% of £4.20
	

	3
	rotate the triangle 90° anticlockwise about (0, 0)

	

	4
	find 
[image: image10.wmf]6

5

 of £42
	

	5
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	6
	find the value of x 
	

	7
	expand: y(5y – 1)
	

	8
	756 ÷ 18
	

	9
	Dean buys 6 balloons at 45p each. He pays with a £10 note. How much change will he get?
	

	10
	find the median of:
86, 76, 84, 84, 81, 85, 80, 86, 33
	


	Revision Set 9

	1
	solve:   ½y – 13 = 5 
	

	2
	find 15% of 240
	

	3
	reflect the rectangle in the x axis

	

	4
	simplify  36
             90
	

	5
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	6
	find the value of x
	

	7
	simplify: 3i + 2k – i + k
	

	8
	898 x 23
	

	9
	find the annual pay for Kevin who earns £300 per month
	

	10
	find the mean of:
1, 2, 0, 2, 5, 3, 1, 0, 1, 2, 3, 4
	

	Revision Set 10

	1
	solve:   5x – 6 = 24
	

	2
	find 11% of 3600
	

	3
	reflect the rectangle in the x axis


	

	4
	find 
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 of 300g
	

	5
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	6
	find the value of x 
	

	7
	expand: 2(5 – 3w)
	

	8
	576 ÷ 12
	

	9
	find the cost of 13 pairs of tights costing £2.30 a pair.
	

	10
	find the mean of:
47, 3, 23, 19, 30, 22
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